#71E14 B A P EREERE EHE RS ERR KRS [25323200]
ELARERE B [321010]

2025/06/07 ~ 2025/06/07 DR A SR
Bt OF WK ok mE
BTEHENRE  OE EE
& E T W R
F i H 1 2fi 3 AfiL 5hiL 6fiL ThiL 8fiL
SHTH 14F 5 7-100m J BAR(1) 11.91|ddk Z20&®1) 12277 REi1) 12.30|P6)2 fEiE(l) 12.71[H5 k) 1286t ] A1) 12.92[fREs F&FI(1) 12.95
2.0 HEF = IR — PN - KRHE— i3 fi
6HTH 2EHF100m & Q) 11.67(fiEx #(2) LL77 |kl WEskQ2) L7755 1 BERE(2) 11.82(fH () 11.82| M 234©2) 11.98| kM E(2) 12.06{ 1A BEAHQ) 12.23
.2 % H FH R = BRI — MR = BN HZEH HIZEH—
6HTH 34EHF-100m B SFE®B) 10.83/5 4 EEL(3) 11.23[ Rl KIKE3) 11.26 [ [LAR 2 FH(3) 11.27|ET f#A3) 11.50 | AR BEAHR(3) JENCT NIET S PNE)) 11.65|'& H =ifi(3) 11.66
R :A1.9 iR JPR,GR|HZEH = R FH TATAS — TR = iR 211K
617H 55 1-200m PO 23.70|Eiff B3IR(3) 23.97 |/ FEA=(3) 24.22|FHF Bt (3) 24481 PF(3) 24.63 |00 AIH3) 25.01 [Hl &K (3) 25.33[ K 5EB) 25.47
A5 Fib KA ARES Kt MR — HIZEH— FATLEE Y
. 400m s BA=(3) 53.15|FA%H fEFHE) 53.63|FAJE FnfsH(3) 54.31|FHH TEAKE) 55.24 )13 AI(3) 55.77| B H BEKG) 56.99|& M Hk(3) 57.59|IRFB 141 i%(3) 59.99
JARE 3 W — i) 11 FH EIlI TKRF— KAk
6HTH 5 800m FIE == 0)) 2:10.01|J50 PR (3) 2:10.19] = F #53H3) 2:11.60| FH T EEAER(3) 2:12.47|4TH BEZH3) 2:15.02|#EH  FEHR(3) 2:15.83[# 2 K Z&HE(3) 2:16.15|7008 3(3) 2:16.34
=% FLEE— iR fARES el A H i AL —
SHTH 5 21500m N ) 4:18.30[Jbbk f&=R(3) 4:26.17| =pk EF(3) 4:27.21 (A7 BERR) 4:27.79| 2 BEKARQ2) 4:28.22| @G i(3) 4:28.32| HEr BHIK(2) 4:28.44 |1l JeA3) 4:29.20
) 2115 il Kt iR e — 211K FATLEE Y HIZEH =
SHTH 5 £3000m N ) 9:26.99 [#ely  HEEE(3) 9:27.89[Hh 4 #(3) 9:47.16 [V LL=(3) 9:48.62| H & 14:5(3) 9:49.45[ A H RAHB) 9:51.67 B f5&HE(3) 9:52.41| =k EH(3) 9:55.81
2115 L — FATLEE Y LA — Jiih R — =z Ktk
6HTH HF110mHO.914m) | ZAFI EH(3) 15.09[1LiF 24(3) 15.49|Em L) 15.63[ 9187 FA(3) 15.64 =44 (3) 15.67|'& H =Eifi(3) 15.75| 1A FEHQ) 17.27
422 BRI R — JiirF Kt MR — 211K HZEH—
T FE 43.84| 21174 44.43| | 44.67|HHEH = 44.72 1L 44.86 [ H 5 — 45.34[ KAk 45.63| 5 — 45.85
KH BEHG) N2 6)] A BiEkQ) Ve =M=(2) HE HRA®B) EHA HHKEG) HH FRE) S @A)
6ATH 93 7-4X100mR B SHEE) R BRE() fRiE #Q) HA EHEQO) AR BisE(3) AR #1(3) %2 BEA(3) ek Z8K0)
Tl EHEE3) I GEAKEB) IS AIE3) HE 52) R EAR) ik HH) B BEH(3) LA BEFR(2)
HEIL $772) T ATARR3) AR ZFHE) it 1fESH2) B 2E2) IT=l{6)) fREB A 73(3) A E)
) FEHRG3) Im73| AR5 KAB) 1m65 [JTHF  HLHE(2) 1m45 1l e Rsfl 2 i (1) 1m45
. T HEEH = e IR e —
oA TR Il KRG Tmd5
e R BER(G) 3md0| &k HEZEER) 3m30| I HEF3) 3m30| AP/ ARR(@) 3m20( )1 7 w(3) 3ml0[AfE #HR(@2) 3m00| AT H HHEL3) 2m80
. el EH= HEEE = R HEEF= HER = Ktk
6A7H BT FERBE il K—Q) 2m80
=%
Ve 2#KRE)  6mo5(+1.5)[# 5m89(+0.8) [l #EF3)  5m77(-0.8)[HA Hrik()  5m67(+2.2)[ e FEFHE)  Sm61(+0.3)[kaE FREER)  5mbIG+1.6)|[ fAEE®B) SmATHLA|EA FEHE)  5md4(+2.3)
6ATH T3y itk HIZEE — el W — *F3 (21131 & =% Rt *F2
AFR5M54(+1.3) ZA7B5m36(+1.8)
6ATH 5 7R ALE(5.000ke) B FE) 12m75|1LAR  #i1:(3) 11m98 | B HHIH(3) 10m71| B e A(3) 10m30|fRA 2575 Q) 9m46 [/ A (3) 9Im44 | ZAFn i E3) ImA2|[ 7 (2) 9m33
) iR e — Kt MR KHHF— SRR 31175 IR =
6ATH 587 LB 500ke) WA A5E(2) 26m76 |#5H  fAHL(3) 26m16|/NE  HA(3) 19m53[/hNA BHAT(2) 18m71| N E A (2) 18m35 |~ 2 FHIA(2) 17m57
- KRHH— iR HZEH R = Pl i
EZN =6 239548 [l BER(3) 20164 [EED BhA(3) 161045 |[F2AC AHH(3) 15385 | 2256 AifE(3) JEISV CRTIE 76 14835 |t #IKk@B) 12158
67H 57 R Bl GR| M — i) B WAL — PN F-H
15.76(-1.5)-10m33-1m70-55.33 16.90(-1.5)-9m36-1m50-56.38 17.06(-1.5)-7Tm08-1m35-1:00.49 19.39(-1.5)-8m14-1m35-58.08 18.80(-1.5)-7m53-1m35-59.25 18.32(-1.5)-8m78-1m30-1:02.71 20.80(~1.5)-6m69-1m30-1:00.77

JLBI JPR: AR U 22508k GR350k *F2:200] H ANARR R *F3:3[8] H 3 AR




#71E14 B A P EREERE EHE RS ERR KRS [25323200]
ELARERE B [321010]

2025/06/07 ~ 2025/06/07 ;;iii :IJE %;ﬁ; i;
BEOH OE W OB % mE
BTEHENRE  OE EE
o X T A R
IS i H 53 2R 3fL AL 5L 6/ ThL 8fL
6HTH 14E42£100m A EZEQ) 1318 %) 13.52| %R A 1-(1) 13.74| B A1) 13.87HH EP(1) 13.93[@JF 25(1) 14.07[&Em A1) 1412k BAQ) 14.33
R +1.6 ARES KR MR — ) HHE JIA RH #1178
6HTH 2442 -100m A HOHE2) 12.80[Jil 50 %% % 1-(2) 13.20[#88 E¥(2) 13.34|k R #1(2) 13.39(7Lf &A1) 134525 1E(2) 13.52|eflE AicHi(2) 13.61 (8K #P3(2) 13.64
JR:+3.8 % - R Ktk B 2113 2117 R =
6HTH 3442 7100m W 5iZE(3) 12.23 VS FeFn(3) 12.90| R %2(3) 13.04[FnH AZ4=3) 13.21 |l A7 35(3) 13.27|HAS LEE®B) 13.32| A& ZEA(3) 13.49[fd - AAE®R) 13.52
JA:+3.2 B 21175 i IATA— 2 ATTAS I TATTAS — ik FH B
6HTH £ 7-200m H - AA46(3) 27.87 iy F2Hh(3) 28.19[FRIl EZH(3) 28.36 Bk HEA(3) 28.76|IA1 EPIQ3) 29.03| 1% ALE(3) 29.36 [ M FnZE(3) 29.68[#k B 1-(3) 30.15
J#:0.0 i R JIA FLEE [ARE:S 2 LA — Kit RHE—
6HTH e 800m W FERH2) 2:27.77[ 1A E%E®R) 2:28.68|k #i1(3) 2:29.98| Kl OL0(2) 2:30.29 KHiA Z2(2) 2:33. 11 &8 w(3) 2:33.64[JF FEAEQ) 2:37.47| )5 E(2) 2:41.47
pAat| Kit KRHE— 2 A — [ARE:S i FH 2113
6HTH £ 1500m =5 FnEk3) 5:04.84|T1H) #b55(2) 5:08.91 |4 KE4(Q2) 5:17.07| LA L-o#(3) 5:18.03| ) FE(3) 5:18.60| KH ¥DR4(3) 5:19.03| Kl OD(2) 5:20.47| A SEW2) 5:24.27
iir A — 4 Ktk Jak FH L #1175 A IR —
6HTH 4-100mH(0.762m) HBFIL A50(3) 15.43| Ve BEAR(3) 1581 EE MEEQ3) 16.09(#EH Z43#E(2) 16.17|ElE F53E(3) 16.28| =08 Z5(3) 16.58 W58 FZH5(3) 16.67| @8 $25(3) 16.97
JR:+3.9 b Kit il e — R 211K HZEH— 21175
TR 50.78 |1 H 5 — 51.13] 2% 51.21 [#EL 52.36 | FAVLEE Y 52.62| 2174 52.81| Ktk 53.11{ 2113 53.21
i #052) HH ERU2) A Q) FE Q) SR iG] B LEQ) T FZE3) EA HhEG)
6ATH #F-4X100mR Hp %G) R BARE(2) lie]lg - Ay 5E(3) A ZEH(03) N %2(3) Y PEFn(3) VElE BEARG3) =g Z503)
Sl L(2) il fEARG) A4 BIBAG) KB HI3) it BER) VEiE FEHiE(2) R HHn(3) KA ERHQ)
Al ) =SSO AR HikEQ) = B&RQ) TR Z3EG) R 152) KR #1(2) JEJR E(2)
JENL i 3(3) Im45[/h 8 F4:(3) 1m45 e 15(2) 1m40 [ Bl B3E(3) 1m40 Im35 /M1 % (2) 1m25
- " HER = X 21175 1] 65 HhE
6ATH T mk % R0 Tmis
Ktk
6ATH e MR iﬁ% 7R 2m20
=B OEREQ)  SmI6GLD[LA EHIQ)  5ml0GLO|AKE #1@  4m90GLI[IE B  4m9o¢2.2)|[@m A KEHEEG)  AmbAGLO[ILA FEHEEQ)  4ma9GLD[ILHE FHEG) 4m34(0.0)[fRH EEG)  4m29(+1.6)
647H S eE P — B2 Rtk | *F4 (R PARE 3 21175 PN
AFRAM65(+1.9)
6ATH LR T2 k) EEESC) 12m46 | ALI5(3) 11m26| 47 Z546(3) 10m93| KRR #£42(3) 9Im93| L HEH(2) 9m84 [/ HiZE3) 9m37 ([ (L FE7-(3) 8m4d [Hi Ak (3) 8m06
) =] fiatl] KHE HES = SEH ] 1] e
B &1 &) 25m92|HEIE BLJ5(3) 21m46 [FiEf ARE3) 16m80| =111 FE7-(3) 16m66
6HTH - (1.000ke) SR — b} Sk iR
A HikE(3) 22118 [P AER) 179053 | B v72(3) 159053 - H0(3) 153288 |3iZE BRA(2) 14865 | AR 1L BAL(3) 12425 [ ILHR —3#(3) 11574
6/ 7H Lo TR Kt BN Bl L HES= SEH (e 2t

15.86(+0.6)-1m45-6m95-28.65(+2.7)

16.60(+0.6)-1m25-6m11-29.59(+2.7)

17.67(+0.6)-1m25-6m21-30.87(+2.7)

17.94(+0.6)-1m15-Tm45-31.12(+2.7)

18.52(+0.6)-1m15-6m32-29.86(+2.7)

19.34(+0.6)-1m20-6m73-33.74(+2.7)

20.09(+0.6)-1m20-4m67-31.83(+2.7)

JLGI *F4:4ln] H AN FR




